Why not satisfied (bg65)
File: Child

Overview

Type: Discrete  Valid cases: 161
Format: numeric Invalid: 16873
Width: 8

Decimals: 0

Range: 1-5

Invalid: 98, 99

Questions and instructions

UNIVERSE
children 5-17

LITERAL QUESTION
If B6.4="No", why not?

CATEGORIES
Value Category Cases
1 Wages too low 22 N 13.7%
2 Work too tiring 70 N 43.5%
3 E mployer too difficult 10 M62%
4 Earning from self employment too low 43 I 26.7%
5 Other 16 N 0.9%
98 Missing response 2
99 Not applicable 16871

Warning: these figures indicate the number of cases found in the data file. They cannot be interpreted as summary statistics of the
population of interest.
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